Answer on Question #61374 — Math — Calculus

Question
3) Evaluate the limit
. 12x* —x*+8x-5
lim 7
X0 X' +7
a) 13
b) 23
c) 12
d) 34
Solution
. 12x* —x*+8x-5 . . .
m]o 7 ={divide the numerator and denominator by x"} =
_12-1/x*+8/x*-5/x* 12-0+0-0 12
=lim . = —=_12
X% 1+7/x% 1+0 1
Answer: c) 12.
Question
4) Evaluate the limit
. X*—=5x-92
lim —————
x>0 x* +3x3
a) 4
b) 2
c)0
d) 1
Solution

_ x*-5x-92 . . A
lim ————— ={divide the numerator and denominator by x"}=

x>—o X" 43X
1/x* -5/ x*-92/x* _0—0—0_9_O

= lim = =
X>—o0 1+3/x 1+0 1
Answer: c) 0.
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